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1
1
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68-  »3«) (

              :    

     
3 3 3 3

310360 360 6 1060
−

−= × = ×    

    
3 9 3 3

6 6 3102 10 2 10 2 10
−

−× = × × = ×   

                  

        .33 4 6 72= × × =   :   

3
1

1

726 10 12000−= × = =
´\e

Áj»n»  ª¹ÀA
·I¶p

   

     1000 12000 80003 − =       

         :  

− =
´\e  RHoÃÃûU

Áj»n»  ª¹ÀA Â]»oi  ª¹ÀA
·I¶p

  

3 4 6 44 10 8000 3
− × ×× = =   

www.konkur.in

Telegram: @konkur_in

www.konkur.in
https://t.me/konkur_in


    »»  1111    14031403««   16  

    1000
3     4 133 3 3

′ = + = 

       .′= = ρ        

   :     

3

2

1200 10
13 4 6 243

ρ= =

′= = × =
′= ρ ⎯⎯⎯⎯⎯⎯⎯⎯→   
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1 1 10 8 0 92 2= ρ + ρ = ρ   

                

         .   :  
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1
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            :  

1
2
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=
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1

1
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10
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=
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Δ α−
   

www.konkur.in

Telegram: @konkur_in

www.konkur.in
https://t.me/konkur_in


    »»  1111    14031403««   17  

3 3

3 3
3 26 72 2 7 132

α α α−
= × = × =
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0 8 8′=′= ⎯⎯⎯⎯→ =   

 :               
22
8

1 1 2 64 642 2
= μ
=
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+

× ×   

2
2

2

24 33 6 31× = =   

      :    

5 12 2 2 27 2 3 6+ → + +   
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   ) 3-      :  4  5  

         :118(  

----------------------------------------------     

83-  »1«) (

   100   8       

        .    
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¼±d¶
¼±d¶ ¼±d¶

¼±d¶
   

28 10−= × ¼±d¶  
5

4 1
2

2 10 2 5 10
8 10

−
− −
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×
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0

2 4
200 15 36 θ== − θ + ⎯⎯⎯⎯→   
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+
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